L (700) BT AIRHIE & @ (710) HAHIB Mg © (715) Lorzaly) 2 ¢ (101) ERNSA (el - wE)
+ = I
of & o 5 2 A E= o ES
ENE s o A o
St
= A 62,000,000 0| 62,000,000
S Hl = 4,169,867 0 4,169,867
gl = 4,169,867 0 4,169,867
715
2 gkt 2l Hl 4,169, 867 0 4,169, 867
100
ol 2 Il 3,620,010 0 3,620,010
101
A2 3,370,466 0 3,370,466
2,120,490 0 2,120,490(01 Jl==
o =5=(78%) 1,908,533
53(28%) 2,867,700 x4H x 1,018 x 12&8 = 140,128
632 (27%) 2,467,700& x 158 x1.018x 12& = 452,182
732 (20%) 2,028,500 x21¥ x 1.018x 128 = 520,384
832 (138) 1,555,300& x6%H x 1.018x 12&8 = 113,998
9= (53) 1,010,700& x 3% x 1.018 x 12&8 = 37,041
s73(208) 2,028,500& x6H x 1.018x 12&8 = 148,681
Jls8=(198) 1,789,500& x21¥ x 1,018 x 12&8 = 459,072




[ =23 ]
B (700) GIRSAIRHIS 8 (710) 2YHIS HIE © (715) Leraely) 2 ¢ (101) crol )
ot = d 4«
of & o = & J| ES
2| ke = ol & o
1592 (163) 1,516,300% x 22 x 1.018 x 128 37,047
o HBAT(LE 60,864,000 60,864
o 4013 151,093
asy 1,908.,533,000! x 0.95/12 151,093
395,532 395,582 (02 <
ceERALY 25,369
43S 2,867,700 x 12 x 4.8/100% 1.018 x 128 1,682
53MS  2,467,7008 x 102 x 4.8/100% 1.018 x 128 14,470
63US 2,028,500 x 72 x4.8/100% 1.018 x 128 8,327
- J1582 S 1,516,300 x 124 x4.8/100% 1.018 x 128 890
SF-EEN=PRCE 69,840
- 25140] & 130, 0008 x 8% x 128 12,480
- 2014 ~2514 0| 4} 110,000 x 142 x 128 18,480
- 1514~201 0| O 80,0002 x 249 x 128 23,040
- 10~ 151 0| o 60,0002 x 179 x 128 12,240




[ 225 ]

B (700) BIACAIHIE & @ (710) FAHIE ME © (715) Leraely) 2 (101) BREBS e - @)

o = I

o & o = 2 A ES | ES

z g Mg = o & o
- 5E~104 0| 8¢ 50,000% x 6% x 128 = 3,600
cJiExg 69,639
i < Xt 40,0003 x79¥ x0.78x 12&8 = 29,578
22AIEF 20,000 x 799 x 1.48x 128 = 28,061
AR OF Of & 50,000& x 209H x 12& = 12,000
ocXtdstHI EX Y 22,531
=3t 52,0003 x 799 x0.19%x43| = 3,123
nsstw 409,450 x79H x0.15%x 43| = 19,408
o8¢ 50,000& x 378 x 12& = 22,200
ocExYPRsd 84,480
AsA2dE=Y 40,000& x49Y x 12&8 = 1,920
HI|ohE B2l 4o 30,0008 x 72 x 128 = 2,520
g 150,000& x 36Y x 12& = 64,800
=g 9,240
- 42 50,000& x 1H x 128 = 600




ST ME : (715) gwaelsl = (101) ERA2e (e - ms)
O e & =2 ] =
2 of o o
- 53 50,0002 x 28 x 128 = 1,200
- 672 30,0008 x 162 x 128 = 5,760
- 82003l 20,0008 x 72 x 128 = 1,680
Dlsgeag HABOISE, JIA) 6,000
S olEN 50,0002 x 28 x 128 = 1,200
- JISE, JIN 30,0008 x 102 x 128 = 3,600
- eI 20,0008 x 52 x 128 = 1,200
R 101,473
ARl 7,325% x 428 x 27 Al 2k x 128 x 1.018 = 101,473
123,240 0| 123,240/03 mouBAY
S LN HoUT ALl 130,000} 79% x 128 = 123,240
118,320 0| 118,320|04 BEWZU
cRED XY 118,320
= 140,000& x 4H x 12&8 = 6,720
672 (Jls7E) 130,000& x 42H x 12&8 = 65,520




[ 220 ]
2t 1 (700) St=Z At HI S g (710) SLH S MAlg : (715) LBtateldl £ : (101) & ce M)
t = oA =
of A& o =T At 9] ES
2|8 Mg = of & o
8~92 (J1s8~92) 120,000& x 32& x 12&8 = 46,080
190,854 0 190,854 |05 ZHEFIHH|
o dZ Syl 1,908,533,000& x 1.2/12 = 190,854
318,089 0 318,089 06 JtHI Xl & Hl
< JHA X & HI 1,908,533,000& x2.0/12 = 318,089
103,941 0 103,941 |07 HILL2 &HH|
o 3 IS A H| 1,969,397,000& x 19/360 = 103,941
102
AP HH| 227,700 0 227,700
9,000 0 9,000/01 AHMZHRHAHI
CcXMZ YDA 9.000
ESy 350,000& x 1 x 128 = 4,200
NIES; 100,000& x4 x 128 = 4,800
130,380 0 130,380 (02 ZXg=2=H|
oA g2t 130,380
45 400,000& x 1 x 128 = 4,800




SteEAQHIE B (710) SYHIS Mg (715) 2et@elt] S (102) HRLH A (o9l © mE)
= 3 oa =
of A o 5 2 A = p =
2t = of & o
.53 250,000 x 48 x 128 = 12,000
.62 (J1562) 155,0009) x 159 x 128 = 27,900
. 72(01572) 140,0008! x 279 x 128 = 45,360
- 8~93 (7158~92) 105,0009) x 329 x 128 = 40,320
88,320 0 88,320(03 SHYL+HUSH
ocSHYRsHB Y| 88,320
. BIYSABRH SHSSH 80,0008 x 74 x 128 = 71,040
NP=g=F Rkl 80,0009 x 4% x 128 = 3,840
NGBS 80,0008 x 5% x 128 = 4,800
 RZNLYTRH 80,0009 x 3% x 128 = 2,880
CrTEEYZR 80,0002 x 6% x 128 = 5,760
104
HIZRNE 4 21,844 0 21,844
21,844 0 2184402 JIZM2ERSE S

CcAFEEA U BIIYMA 2RO 8,844
o1 24 | 32,4009 x 2502 = 8,100




ot 2 g @ (715) eraely) S ¢ (104) HIZRERS (o5l @)

I
Ao = 2 A e 9] S
Z of & o
AR T (U 2UAL DS AT)
8,100,000& x9.185% = 744
CHMANTYR STELRR (L BMUT2) 13,000
- ol 200,000& x 10H x6H & = 12,000
- 20 &yl 100,000& x 10& = 1,000
200
2324l 549,857 0 549,857
201
2By 52,535 0 52,535
38,032 0 38,032|01 gBt=FH|
ocR2ANE2Y LBt=EZH| 3,100,000& = 3,100
o OIAA HI 11,000
CY=x 30,000& x 1008 = 3,000
=4 20,000& x 1008 x 23| = 4,000
- dAbA A 40,000& x 1008 = 4,000
oMY E L HE =2 20,000& x 2002 = 4,000
CEE2EZ (M BEU)LE 222200,0008 x 20 Al x 33| = 1,200




bl g Mg : (715) Leratelt] = : (201) Yer2 g (o9l © mE)
o &2 =1L 5 A = p %
2 o & o
OBHAETAIY AAM 242 10,000,000% x 14! = 10,000
o 2AZ HA L UE ROU(BY) 5,000
R A 1502 x 10% x 2,00004 = 3,000
ES 50,0002 x 20% x 23| = 2,000
o ®AIII ARE R 200,0008! x 4CH x 38| = 2,400
o ZAEX B 1,332
WYY 16,5009 x 52+ A x 128 = 990
.48 28,5002 x 18/ A x 128 = 342
2,740 0 2,740/02 SRS
o SHINABYBIA(1F) 60,0002 x 52 x 5% = 1,500
o NYZILBYH2DS 280,0008 x 3% x 18| = 840
o 2%Z HOILt S5 50,0002 x 2 x 43| = 400
2,268 0 2,268/03 ZZRZLHAl
o RA2Y BBRZ 768,0008 = 768
o 2AZ MANZD3 300,0008 x 5% = 1,500
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-

o
2
,0

1,575,000&

A = Al

00& x 12 x 1L x 128 =

1l
—

|
-

,575

,920

202
INE=E g R=DNY =]

, 757

6,757

. 757

3,757

3,757,000& x 104

1l
w

, 157

, 157

,000

3,000

= 3,000,000& x 14 =

,000

s
u®
ol
0z
=

,085

438,085

,607

2,607

2,190,330,000& x0.119%

1l
N

,607

347,054

347,054

2,190,330,000& x 12.1221%

2,190,330,000& x 3.7227%

265

81

,514

,540
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©(127) 321743 =

0

[H
m
Im
S
1
e

o _
- - 2 7l =
3 [ g =
RSN 2,500
120
OF S S HI Tt 2,500
127
=R 2,500
405-01
AHabE =S| 2,500
2,500 =TV 1,000,000& x 2CH =

500,000& x 1CH

m
40




© (700) St=ZAtHHIE g 1 (710) 2gHIE Mg (715)

ne
e
b

22| bl S @ (201) Yere Y] (o9l © mE)
= 3 oW o<
o & o 5 2 & & Il ES
= o & o
= 1,046, 144 0| 1,046,144
38,103 0 38,103
22l | 38,103 0 38,103
200
EEET 38,103 0 38,103
201
2Bt 2 o b 8,223 0 8,223
5,530 0 5,530(01 gt+SH|
oRA2YYstagY) 3,160,0002 x 14! = 3,160
oA ARE | 158,0002 x 504 x 33| = 2,370
768 0 768/03 ZZRIS LM Al
N2y ZBR3 768,0008! x 141 = 768
1,925 0 1,925/06 S
o= A2Y Y 1,925,0008! x 14! = 1,925
205
01 bl 26,880 0 26,880
26,880 0 26,880(01 = LH% = 0]l
oFQYe ZXOiY| 20,0009 x 112 x82 x 128 = 21,120
obtaHeHAL PRET Ol 60,0008 x4 x 42 x 63| = 5,760




[ Al ]
2t 1 (700) Gt AISEHIE st (710) FgHI= Mg @ (715) LEH2t2|H] 2 @ (207) YR=EH e : M)
n =1 & &
O AF oM = & Ak = J| =
g NE = of A o
207
o R =& H 3,000 3,000
3,000 3,000104 BEARIAREZA
o2 MN2Y YRF=XH(HE11Y) 250,0009 x 128 = 3,000
720
e R N[ E= 1,008,041 1,008, 041
721
Xl 20l Xt 1,008,041 1,008, 041
721-1
Xl 20l Xt 1,008,041 1,008, 041
1,008,041 1,008,041 | cEdHatMHel&HAA 1,008,041
[2113,000 [Al1995, 041
- 19984 & 2,990, 400,000% x 4.38% = 130,980
- 19994 & 2,072,000,000% x 4.38% = 90,754
- 20004 & 800,000,000 x 4.38% = 35,040
- 20019 & 8,125,200,000% x 4.38% = 355,884
- 20024 & 9,027,000,000< x 4.38% = 395,383




[ NED ]
21 (100) HEHKE & 1 (120) JHS HHIX & Mg : (127) 2217813 S 1 (405-01) XtaHE S| (el - wE)
o B I
AF oM = 2 = Il =
ENE 8
100 i
INE==ES PN 19,358,616 19,358,616
120
bS8l At 1,500 1,500
127 B
=l 1,500 1,500
405-01
AHabE =S| 1,500 1,500
1,500 1,500 | € BT
fEd 2t 1,500,000& x 14 = 1,500
130
HI Ot = & Bl At 16,657,116 16,657,116
131
A& St 16,657,116 16,657,116
401-01
A& Hl 12,963,300 12,963,300
12,963, 300 12,963, 300 4,755,000
4,326,000,000& = 4,326,000
429,000,000& = 429,000
1,650,000
1,155,000,000& = 1,155,000
123,000,000& = 123,000




=)

WEEPE L (130) BIDIS&BIXA  AIE : (131) AEZAX : (401-01) Al&H] o - Hm)
I
Ao 2 ES | st
B of & o
372,000,000& 372,000
246,000
172,000,000 172,000
18,000, 000& 18,000
56,000, 000& 56,000
T2 AlE S A ,312,300
3,702,000,000& , 702,000
820,000,000& 820,000
1,790,300,000& ,790,300
401-02
22l bl 672,700 672,700
672,700 672,700 el & 16H D& HeAlE #HPdesd 672,700
672,700,000& 672,700
401-03
Al & 208l 41,116 41,116
41,116 41,116 | oSSt Hel & AHH 7,735,000,000& x 0.0025 19,338
ocllEot=Hel &AL 1,650,000,000& x 0.0036 5,940




R o—

© (100) A

St

I
1

Xl

[1A]

: (130) HIJI=S & H| XA

© (401-03) Al&E R 0HHI

2 8 &5 (S5l M)
=
R = & & + & & e p =S
cEBGHAMRAY 122 DEHIAMLIA
6,335,000,000& x0.0025 = 15,838
405-01
T 2,980,000 ,980,000
2,980,000 /980,000 | Mot Ml ZAL EXH ] 2,980,000
[=41] 2,006,000,000% = 2,006,000
(=8l 974,000,0008 = 974,000
220
DYEHAES 2,700,000 700,000
F D = 2,700,000 700,000
60101
B DB LA 2 2,700,000 700,000
2,700,000 700,000 © Sl Gt A2l =2 & 2,700,000
£ 19989 S [=] 124,600,0008! x 43| = 498,400
19999 = [=] 74,000,000 x 43| = 296,000
L 20004 S [=] 25,000,000 x 43| = 100,000
20019 S [=] 225,700,000%! x 43| = 902,800
L2002 S [2] 225,700,000 x 43| = 902,800




700) &4 S A SRR Mg (711) 20 = (104) HIZREES (el - wE)
T & = gl S
o 4 o
2,046,374 0 2,046,374
2,046,374 0 2,046,374
1,956,927 0 1,956,927
102,129 0 102,129
102,129 0 102,129
102,129 0 102,129 |01 SRIHLZ2ZZ2NE =+
ocot=EE4LE 91,980
=== 38,6303 x 49 x 300 = 46,356
NGRS 965,750 x 4% x 300% = 11,589
- HE SO 965,750& x 4% x 100% = 3,863
CFRE 38,630 x 49 x 52 = 8,036
R PNECE = 38,6308 x 49 x 20 = 3,091
AR 2RE 7,250 x4H x22A12t x 128 = 7,656
wES A 30,000& x49H x 12&8 = 1,440
Mg A 80,000& x4H x 128 = 3,840




2t 700) ot A (710) gHIE MNI& : (711) ZHI 2 (104) HIERZEES ol - HMEl)
@ 4| <
] =
2 ol &b o
ESLY 50,0009 x 4% x 128 = 2,400
D = 38,6302 x 4% x4 x 128 x 50% = 3,709
oAl 2ARY 2 91,980,000 x9.185% = 8,449
oIl 2] 1,580
o= 130,0009 x 49 x 23| = 1,040
-9 10,0009 x 42 x 23| = 80
ObA 3} 35,0008 x 4% x 13| = 140
HAEE=X 40,0002 x 4% x 23| = 320
oZEMY HESH 30,0009 x 4% x 13| = 120
200
2 A
201
Aot N
01 ek
OB+ TN B 242 (Zg 500, REXL)
15,000,000€ x 14! = 15,000
03 222 YAAM
COlESHFI E4 50,0009 x 2[H x 128 = 1,200




[ stacD ]
20 (700) BIATAIRHIE & ¢ (710) HAHIE MIZ : (711) 28] 2 1 (201) ZEe ) ciol : H)
o £ I
of & o 5 A ES | ES
z g Mg = o & o
8,400 8,400107 <Xz
SBAUARAT HAKX &AM 8,400
i N |1 350,000& x 1CH x 69 & x 23] 4,200
-HOEH 350,000& x 1CH x 690 & x 23] 4,200
202
Al & & H| = Xl bl 32,974 32,974
12,974 12,974|101 A &L XA KX E Ul
oXEFHEUHI(RA L A22FH|) 2,974,000& x 104 2,974
ooy T2 AZ UISSATHAR ASAY
10,000,000& x 14 10,000
20,000 20,000(02 dHMEZZ ISR E 4|
o MAINL (St AIEESGISKR A AL AY)
20,000,000& x 14 20,000
206
A 2 OH 2| 950,000 950,000
950,000 950,000(01 HF2=ZHHI
oB 4T Y JI=HE MEH 2 950,000,008 x 14 950,000




700) Gt SAISEHI 2 st (710)

S (711) 2941

mn

0
o
1

1=

=2 ST
ol A o 2 = pJ =
= of &
209
X 24 18,925 18,925
18,925 18,925
3,850 x 500 1,925
20,000 x 100M 2,000
g2 150,000 x 100% 15,000
300
A0 828,299 828,299
303
QI2tH AO| H 750,000 750,000
750,000 750,000
5 ANE2S22)
937,500,0002 x 80/100 750,000
305
JIEtZ A0l & 78,299 78,299
78,299 78,299
g2 S AP A1/100)
7,829,866,000% x 1/100 = 78,299




© (715) Legrateltl

D (104) HIZREE =S

&
40

1=

M

rx

£ pJ

P

89,447

89,447

7,292

7,292

7,292

7,292

7,292

7,292

Mo

80,000& x 2% x 128

5,000% x 2 x22& x 12&

4,000& x 28 x 22 x 12&

130,000& x 2% x 23]

5,000 x2¥ x 23|

20,0003 x 23 x 2&

1,920

2,640

2,112

540

520

20

80

H0XS
R
0y
=

82,155

82,155

1o
=
Ho
02

r

21,795

21,795

7,660

7,660

e
a
e
0

—_

o

i
>
Ho
08
I

4>
Ol

3,760,000& x 14

3,760




700) GH+EAFZHIE B 1 (710) FHHIS Bt (715) ezt S @ (201) YEr2 ) (o9l © mE)

= I
of & o =T A S | ES
z B of & o
oot 2t dbtx=ZH| 1,500,000& x 14! = 1,500
oMAD|ID ABE 200,000 x 40 x 33| = 2,400
7,960 0 7,960|03 ZB3L2 LA A
ocREANZYE BER3 760,000& x 14] = 760
o Aot £ & 3l bl 5,700,000& x 14 = 5,700
oot AMNEZ LIAANSY REZ 2503 x 5004 x 123 = 1,500
6,175 0 6,175]06 = &l
oc2NZ2IE =l 3,675,000& x 14! = 3,675
o924l HAZR MATA 50008 x 102 x5 x 103] = 2,500
205
04 Hi 56,160 0 56,160
56,160 0 56,160(01 = LHZ & XY
o2 N FRAFP FXHYI 20,000% x 219 x9& x 12& = 45,360
oBl4T R2 Y 22 ZTO0IH0,0008 x 28 x 3L x 63| = 2,160
ootk J|2HE 2AXN=Z =& 60,0008 x3H x3 x63| = 3,240
OB 4TI HUIAYN OGS NELE L DS &4
60,000& x 3% x3& x 108 = 5,400
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[ sla= D |
2 (100) X=X St ¢ (120) JPE&HIXH& ME o (124) =2 = : (401-01) Al&H| o - )
o = I
of & o = 2 A = | ES
ENE = o A o
100 .
INE=—E=PNI- 20,784,591 0| 20,784,591
120
Jt =S &l Aot 3,300,430 0 3,300,430
124
== 3,297,930 0 3,297,930
401-01
Al & Hl 3,289,930 0 3,289,930
3,289,930 0 3,289,930 | o2 AN (ZSLA-SECEAHBZFH)2HoI =S E X S AH(L=
1,000,000,000& x 14! 1,000,000
odt+=% &X ¥ E=(P00OL) 700,000,000& x 14! 700,000
oMER 218 ot &4 300,000,000& x 14! 300,000
ot YA Bt E FE4 300,000,000& x 14! 300,000
oM HAE 9B HE ZAH(SES 32H2)
3301 £ x 3,000,000& 99,000
ostitE 248 XU St & Xl = AH(L=900m) 320,930
& Al & A HI 700,000,000& x2.99/100 20,930
Al & Hl 300,000,000& x 14 300,000
ostiaE &N & olxE &XIBAHL=60m)
50,000,000& x 14 50,000
SMTHIS BEXU 3145 242 AH(L=220m)




[ Bt ]
2 (100) MHE=EXE s @ (120) JtS A H| KA Mg (124) =2 2 (401-01) Al&dl CERETT
! =2 H oA -«
;[N = 2 At = J| =
|8 HE 2 of &b o
60.000.000 x 1241 60.000
ocAtf2E 12EXIH St2=E JHE 22 AH(L=200m)
50,000,000 x 14l 50,000
oHEZ1ES SHOIL MY Bt & X2 AHL=50m)
50,000,000 x 14l 50,000
o2E= BEXUWH St2=ZIHE 2 AH(L=50m)
30,000,000 x 14l 30,000
oR2E5= 39X ST IHE =2 AHL=150m) 100,000
ALALA A HI 100,000,0002 x5.11/100 5,110
Al & 1] 94,890,000 x 14l 94,890
oBSE WSSt ot4 T & X2 AHL=260m) 130,000
ALALA A H 130,000, 0002 x 4.08/100 5,304
Al 4 Hi 124,696,000 x 14! 124,696
oXHUE AYSE Gt4S A X ZAHL=210m) 100,000
AAl A2 100,000,000€ x5.11/100 5,110
Al 4 Hi 94,890
- [£] 30,000,000 30,000




[ Bt ]
2 0 (100) MHE=EXE St 1 (120) DS &HIKHA H& @ (124) =2 2 @ (401-01) Al&H] ol M)
n =1 & &
O AF oM = & AF = J| =
2|8 Mg = of A o
- [Al] 64,890,000 = 64,890
401-03
A& 2| 8,000 0 8,000
8,000 0 8,000 | @ Al &2 0HHI 3,200,000,0002 x0.25/100 = 8,000
127
ZJ|RH E 2,500 0 2,500
405-01
XHAEE S H| 2,500 0 2,500
2,500 0 2,500 o0l TEIE (et Ad) 2,000,000 x 104 = 2,000
o BAFE S (A0l N, A4) 500,0002 x 10§ = 500
130
HI Dt = & HI Xt At 16,378,001 0| 16,378,001
131
H A =01 XA 10,065,001 0| 10,065,001
401-01
Al & HI 9,641,063 0| 9,641,063
9,641,063 0| 9,641,063 |cZ&otL2H(SFS,8HAH) EHIZ A 6,198,063
[=] 4,427 ,000,0008 x 14l = 4,427,000
[Al 1,771,063,000 x 14! = 1,771,063
OLEGLRAN(FS,SA)EHZAHOIEHAR) 800,000
[Al] 800,000,000 x 1Al = 800,000




[ & ]
= NSRS NI & : (130) HIJtsS & HI XA H& @ (131) A& S XH&t = : (401-01) Al&H] (el @ &)
= 3 od =
A OH = o = -
= = = Ol A o & o = 2 At £ Jl =
oA E Lot HEH SA 1,256,000
- [=] 881,000,000& x 14! = 881,000
- [Al] 375,000,000& x 14! = 375,000
SCRELG+ZANETHSMESE) 650,000
- [Al] 650,000,000& x 14! = 650,000
o LSt~ BTL AFR (Z=HIZ) 647,000
- [=] 453,000,000& x 14 = 453,000
- [Al] 194,000,000& x 14 = 194,000
o =Hel F=20tSot=E FUHAE Y 228+
90,000,000& x 14 = 90,000
401-02
22l bl 400,000 0 400,000
400,000 0 400,000 o & (SFEMEIEF 2 2HA) ol HH 2 A EEHA 24
400,000
- [2] 280,000,000& x 14! = 280,000
- [Al] 120,000,000& x 14 = 120,000
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© (130) HIDtS&EHIXHat Mg @ (131) AL SRt £ : (401-03) AIE =204l (

Eel o M)
) 5 d 494 &
o & o £ 2 & £ 7| e
2 |8 NE = O & oA
401-03
A& =0l 23,938 0 23,938
23,938 0 23,938 | @ot+=2 HEHI AL 9,575,000,000& % 0.25% = 23,938
132
ZAANEAHE S AL 6,313,000 0 6,313,000
403-02 o
SsJ2S00ie thal Abg 6,313,000 0 6,313,000
6,313,000 0 6,313,000 | @ Soliot==2 HE Bl S A 6,313,000
- [=] 4,419,000,000& x 14} = 4,419,000
- [Al] 1,894,000,000& x 14 = 1,894,000
810
ol Bl sl 1,106, 160 0 1,106, 160
811
ol gl gl 1,106, 160 0 1,106,160
811
olglsl 1,106, 160 0 1,106,160
1,106, 160 0 1,106,160 | = 0l Bl Bl 1,106,160,000& x 14 = 1,106, 160




700 (710) b8 L (713) Mel& s ool As)
a e
5 2 | S
ENE o &
700
ot+=C ALHHIE 13,457,258
710
FHHE 13,457,258
713
Xcl &l 13,457,258
100
ol 2 Al 688,283
101
A2+ 141,845
141,845(02 =%
ocxI22E 141,845
Al 22| 2= 7,325% x 369 x 32A1 2t x 128 x 1.018 = 103,084
222 55,181& x 6% x 1156& x 1.018 = 38,761
104
HEREE 546,438
526,260 |01 SIIHAZ
cELHaRARY 408,719
zs 720,000 x 11 x 128 = 95,040
=g 960,000& x 119 x 200% = 21,120
g2+ 960,000& x 11 x 190% = 20,064




[ St==TH& I ]
2 @ (700) St=S=AtSHIE & (710) 2gHIE Mg o (713) ™el &l £ (104) HIZ3REES T )
n; = 4 @8 &
Ol & E Z &t E Il =

2 | & HE = o & oA
M= e el 960,000& x 11 x 300% = 31,680
Exgf=¢ 90,000& x 11& x 128 = 11,880
AATAE 70,0008 x 11H x 128 = 9,240
sL2FR=E 55,100& x 118 x2&€ x 128 = 14,547
AN2RAZ 2 13,7703 x 118 x30€ x 128 = 54,530
PN = RS 36,7003 x 118 x 16€ = 6,460
) SRS 24,000% x 118 x84@ x 12&@ = 25,344
g & F Ol 960,000 x 11 x 150% = 15,840
o =8l 60,000& x 11H x 23] = 1,320
eHH 3t 35,000& x 118 = 385
HE=E (BRI 30,0003 x 11H x 128 = 3,960
NEFL(RLINE 20,0003 x 11H x 128 = 2,640
AWM E =S 50,0003 x6H x 128 = 3,600
XS A 90,000& x 11E x 128 = 11,880
JHAI 2 | 80,000 x 11H x 12& = 10,560




© (710) SHIE Mg o (713) ™el &l = @ (104) HIEREES (o9 M)
4 & &
& ol C Z &t E Il =
s o & oA
1w SHl 120,000& x 11¥ x 128 = 15,840
Z2HALH| 100,000& x 11&E x 128 = 13,200
? 4l 90,000 x 11E x 128 = 11,880
O 21 S At 90,0008 x 11&E x 12& = 11,880
Ag8+< 50,0008 x 118 x 12& = 6,600
AEstHEX 2 (Sst) 52,0003 x 53 x 43| = 1,040
NESHEXZSE (S8 D) 409,450% x 5H x 43| = 8,189
AU 2RSS 408,719,000& x9.185% = 37,541
o &l AS 80,000,000& x 1¥ = 80,000
20,178 0 20,178|02 JIZtHZ2NHSE=+
o0l XHAIAL 22 ¥ S#ZEH URY 18,480
Solicte=Meld HME=AHPUFY 32,400 x 108 x 15& = 4,860
TEXLotXHelE M==AY 22,4002 x 58 x 10€ = 1,620
St=HMelAld =8 33 AR (Ba-ldtel)
200,000% x6H x6& = 7,200




oHl 2 Mg (713) Mel =) S : (104) HIZREE2S (o5l @R)

@ 49 =
& o =S 24 & £ J| ES
2 of & o
OlSot+Xel & 22 ¥ SZFH A2 (B LU e
200,000% x 4% x 68 = 4,800
o 4UEE I 2L 18,480,000% x 9.185% = 1,698
200
2g2 819,388 0 819,388
201
st 248,122 0 248,122
61,823 0 61,823(01 Lgt42H
ocEN2I US| 5,400,0008 = 5,400
CANUESLEIANX S JIEL =2 4,000,0008 = 4,000
oAStDA OHUR AXI(SHdt+XelE) 310,000& x 1004 = 3,100
SANSEHA ALSHAZ2 FUAA 222 (HAM)
FEXZ S5 5,000,000 x2M A = 10,000
oFIIHMUNH T 12,000
FEZSI+XF 400,0002 x 128 = 4,800
FEZYET FHEZH 100,0008 x 204 £ x 12”0 = 2,400
EEHEDE 400,0002 x 128 = 4,800
CHIIS(E+EAN)FHLERZANSL2(ZY, PEZ, S5)
40,0002 x 255 x 45| x 3M & = 12,000




L (710) 2AHIE Mg (713) Hel =) S 1 (201) Ye 2 (o9 me)

& &
Ab o od = 2 At = ] =
o ol &b o
oftS+ MY FY ALUEA 42
DEIZ SHlSHSHRIE 2,500,000 x 20 A = 5,000
oXFHA 222 117,000 x 200 A x 122 ,808
o A2 28t EHiH| (Z0 52X 2 15,0009 x 3652 ,475
OXWALEOAAH 2722 2
50,0002 x 37 A x 12 ,800
oS 0lAE HINIHA =22 (o4 X2l &)60,000& x 4CH 240
02 <QAE DS
oot HMEANER2YE 2% AE DU 150,0002 x 10 x 13 ,500
oXMI|otM 2| Xt QI Et DS HI 160,000 x 4% x 13] 640
oXMIIAlE BESHAMLH B AE DIHIZ50,0008 x 2H x 13 700
03 Z2Q2YAMAM
ocRMNR2Y ZZ222 1,536,000< ,536
ol BT AMERE ,000
Sh4THA D Z2IAMPA HEB(ZEStotEXEIE)
100,000 x 12& ,200
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Mgt (713) el =] Ut | (cHe)
g8 =Ly &t = 9] ES
of & o
el & 200,0009 x 128 = 2,400
3y sHEoy 200,0009 x 128 = 2,400
oI (SMot+MRIFL 2)HA) 40,0008 x 7C0H x 128 = 3,360
s 15,600
S 400,000% x 128 = 4,800
aH 2l 500,0009 x 128 = 6,000
SRS EIRS 400,000% x 128 = 4,800
olg 3l (at=Hel &) 140,000& x 6% = 840
N.Bgz 600,000 x 604 = 3,600
dea3 5,200
g2 1,000,0008 x 204 4 x 28| = 4,000
=S} 100,000 x 6CH x 23] = 1,200
96,000 0 2d=E
Hag(ZE, PEZ, S) 96.000
o= g 40,0008 x 5% x 115 23,000




(710) eibig ME : (713) HelEbl 2 ¢ (201) Y@y
I
o = 2 A e | S
z o & o
=A4 40,000% x 59 x 365 = 73,000
6,860 0 6,860|05 Il=H|
o225 130,000& x 429% = 5,460
SRelFSk=] 35,000& x 409 = 1,400
13,950 0 13,950 (06 =&t
ocE2ANE2Y =gl 7,350,000& = 7,350
oBAHRIE 0P HHIE AT SH0002 x 6% x 102 x 128 = 3,600
oot=Mel&E HIAIREAN =4 5,000& x 10H x5 x 123| = 3,000
6,000 0 6,00007 <Xtz
oOlSs+ME DlME QU 2k AX
300,000& x40 A x 43| = 4,800
CPEUSAKUY S4EH DY MAZH X
300,000& x 43| = 1,200
24,513 0 24,513|08 9 = H|
SREILHRAN LY A=Y
1,330& x 1602 & x 1 x 952 x40/100 = 8,087
oEoIAHRIE LY Y




[ GH4TH& D ]
B (700) BIAEAIRHIE B : (710) FYHIE Mg : (713) X2l =] S 1 (202) AEZHIRT (©9 . me)
o = 38 =
o & o s & & | ES
B = ol A o
T.3307 X 6502 6 x 12 X 20A X 952 X 107100 = 16426
202
RSN 118, 106 118,106
118,106 11810601 AlS L K& R X =4 b
cHIYIH R 1,600
= A 100,000 x 4CH = 400
DEUOIM TREI KXH 100,008 x 104 x 128 = 1,200
o xb2 o Bt 25,739
st 2,347,000% x 10} = 2,347
EEPY 23,302
- o 6.621,0008! x 2L} = 13,242
- =3 4,202,008 x 104 = 4,202
- 49 2,974,000 x 20H = 5,948
cASRX el 10,867
SHEMAD BRAANPY ASB(THEFHET)
3,248 x 450 = 1,462
PEEo ST 1,182 x 3,682 = 4,117
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2o Mg : (713) M2l &b S (202) AEFHIRAL (o9
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s & e g =
z o
Sohotsx2E 1,118% x 4,729 = 5,288
odtaHMaF I ¥ HIANE S| 34,000
mEEstaHel 15,000,0008! x 14 = 15,000
St el = 15,000,0008 x 14 = 15,000
OHS 5t x 2l & 1,000,0008 x 474 2 = 4,000
odtaMelY HEBER(ZL)R N T2l 45,000
AELGAHLE 150,0008! x 100 = 15,000
= S EETE: 150,0008! x 2001 = 30.000
X MABTH (MEA)RNH (SR NS 295)
30,000 x 305 x 13] = 900
85,320 85,320
85,320 8532001 =LH% @ 201H|
SXEQYUDET 0L 20,0009 x 369 x 9 x 128 = 77,760
oSt HMeANEY YPETO0IH 60,0008 x 5% x 42 x 23] = 2,400
STEINY FEHAZ SO0, 0002 x 22 x 2 x 143] = 3,360




[ staTHa D |
B (700) SHAGAIRHIS & ¢ (710) FAHIB Mg : (713) HelZyl S : (205) 014 ool A)
o = G
of & o = 2 A = p ES
IENE S o o o
oEIotA BT DR 60,0002 x 58 x 62 = 1,800
206
o1 2 ) 4,400 0 4,400
4,400 0 4,400|02 AlEAHFHI
oXWESMBAIY U ZXIIP P 50,0008 x 155 x 43| = 3,000
CHXHEME AQH I T(GF/C)PY(4E)
70,000& x5& x 43| = 1,400
207
2=y 4,920 0 4,920
4,920 0 4,920(04 SAH2LALEHY)
SNSHARETL (FY 42F) 4,920
0| 350,0002 x 128 = 4,200
En) 5,0008 x 12 x 128 = 720
209
R 358,520 0 358,520
36,920 0 36,920 |01 T2 bl
odt+HEHRY W2 8,000
PEE-SHEY 100,000% x 105 x 24 4 x 23| = 4,000
sauFyE2Y 2,000,0008 x 6742 = 12,000
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clE JIAE DI E I

1=

H)18,0002 x 204 A x 703

(£

| =
100,000& x 105 x 23| = 2,000
130,000& x 200 = 2,600
350,000& x 2000 = 7,00
500,000& x 2 x 204 = 2,0
2,

800,000& x 2 x 38 =

0
00

520

4,800

45,600

19,200

4,000& x 400kgx 128 =

4,000& x550kgx 128 =

&)

26,400

276,000

12,000

E
d 4 =
o & o
45,600

276,000
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A2 (sHXXMelAIE
1,000,000& x 128 =




[ St D |
B (700) GRS AIRHIS (710) JeHIS g : (713) MelZ) = @ (209) W2l oel ;@)
ot 3 8 =
of & o s & = | ES
Z |8 Mg = of & o
AEEG A2 E 9,000,0008! x 128 = 108,000
ol 12,000,0008! x 128 = 144,000
OS54 x 2l & 1,000,0008! x 128 = 12,000
300
40| & 11,949,587 11,949,587
303
012k 40| & 11,945,132 11,945,132
11,945,132 11,945,132|09  ©I 2+ St 2 A& b
cHESLHAZ LARHS S 11,729,612
DHASE 4,849,240,0009! /3652 x 365% 1.1 = 5,334, 164
SI+BISAEE  93.028 x 152,000 x 3652 x 1.1 = 5,676,825
ELHSASE 1,784.70% x 400k | x 3652 x 1.1 = 286,623
SteEeiXl MESX (oM F)
60,0002 x 600 x 1204 & = 432,000
oELM2lle F4 MR HI1,0008 x 4801 x 3652 x 10/100 = 17,520
odt+LN Hol(HY L MEE Hel) 198,000
PELSHEHRAZ(HY) 50,0008 x 150 x 120 = 90,000




]
700) St ALSHI S g (710) 2gHIE Mg o (713) ™el &l £ 1 (303) 2B a0IH (

S0lS cel @A)
= q @ =
of & o 5 2 &k £ 7l =
ey = O &t oM
=L PSR <JOVE-2=)) 60,0008 x 150 x 128 = 108,000
305
Jlet3 ol 4,455 0 4,455
4,455 0 4,455104 QRIZtolBag
oMot HMel ¥ (4UIS 288X H) US4 1,791
MeldlS s 3703 x 80 x 204 x 12& = 711
&= Hdeldl 30,000& x36= x 18| = 1,080
o EXSSsclAE UL 2,664
MY IS E 2508 x 1398 x 201 x 12& = 834
i Adeldl 30,000& x61= x 18] = 1,830




100) Xt (120) Dt s & P(128) 2 : (401-01) Al&H] cro|  m)
o ] _
- & 5 2 = | S
s g =
A= 1,134, 1,134,650
120
bS8l At 1,134, 1,134,650
123
A== 30, 30,000
401-01
INE=3:1 30, 30,000
30, 30,000 10,000,000& x 10 &~ = 10,000
cHUCARY 2HE E== 20,000,000& x 14l = 20,000
124
== 927, 927,000
401-01
INE=3:1 927, 927,000
927, 927,000 | ot X MElAlE X EAHEEH| 257,000
180,000,000& = 180,000
19,000,000& = 19,000
58,000,000& = 58,000
SHUZ(PEE.E5 AL AIAI LS (THS) 75 B A
600,000,000& x 14! = 600,000
T E LGt JHZE(L=100) 3 Al
20,000,000& x 14! = 20,000




[ SH4Tia D |
20 (100) HEHNE 8t 0 (120) JFS&HIKA ME @ (124) 252 2 : (401-01) Al&H| ciol : H)
o £ I
of & o = 2 A ES | ES
z g Mg = o & o
CPEL ZHHIX (A .BF2)FIIEH +&ZA
20,000,000& x 14 20,000
SHAMAE(HEHTEL 5HAL)EHZA
30,000,000& x 14 30,000
125
JIHEX 84,000 84,000
401-01
Al & Hl 84,000 84,000
84,000 84,000 | ostUi0tSot=xcl & dXIal REH 4 X5,000,000& x 141 5,000
CPETSAHE BAYRT| M (25)
10,000,000& x 14 10,000
oA ELZHELYE =20t =2 A wH2,500,000& x 44 & 10,000
oSS HEZE SHELZ AHH WM 8,000,000 x 204 16,000
o=dliot=HMel & HI2U(NEHE) &X25,000,000& x 14 25,000
cEHBI AR NSAMI ALIE B A
9,000,000& x 24 A& 18,000
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LIE 1 &500,000& x 5CH

(&9 @ &)
AF oM = 2+ Il ==
g
6
S 85,000 85,000
405-01
AbatS SHI 85,000 85,000
85,000 85,000 | o =dd Zet2 gZEd 2 85,000,000& x 1CH = 85,000
= ,650 8,650
405-01
AbatF SH| ,650 8,650
,650 8,650 | =22 |lZH&3stI ¢ 350,000& x 801 = 2,800
o 5,850
850,000& x 104 = 850
2,500,000& x 1CH = 2,500
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